
RAFT TRAPEZOID
1X PACK SHOWN

RAFT BLADE
1X PACK SHOWN

RAFT BEAM 250
1X PACK SHOWN

RAFT BEAM 100
1X PACK SHOWN

Install Instructions | Raft Styles

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 15 of 29

®

RAFT TRAPEZOID
1X PACK SHOWN

RAFT BLADE
1X PACK SHOWN

RAFT BEAM 250
1X PACK SHOWN

RAFT BEAM 100
1X PACK SHOWN

Install Instructions | Raft Styles

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 15 of 29

®

Página 15 de 29Instrucciones de instalación de Frontier Instrucciones de instalación | Sistema internacional | R1-1.2 | Autex Industries Ltd © Febrero de 2021

2. DIRECT FIXED TO RAILS1. DIRECT FIXED TO CEILING 3. SUSPENDED FROM RAILS

SEE PAGE 2 SEE PAGE 3 SEE PAGE 4

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

NOT SUPPLIED
Fasteners (to substrate)

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

ADDITIONAL COMPONENTS REQUIRED
Autex Frontier Cross Rails x2 

Autex W-Clips

NOT SUPPLIED
Fasteners (to substrate)

M6 Threaded Rod
M6 Back Plates to ceiling

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

ADDITIONAL COMPONENTS REQUIRED
Autex Frontier Cross Rails x2

NOT SUPPLIED
Fasteners (to substrate)

THE FIRST CONSIDERATION TO MAKE WHEN SPECIFYING A FRONTIER SYSTEM IS THE INSTALLATION METHOD.  

For suspended installations it is strongly recommended to consult a building engineer for seismic considerations. See Pages 23-29 for suggested details.  
For all installations in sprinklered buildings, consult a fire engineer to ensure the intended position of the Frontier Fins/Rafts meet sprinkler and alarm standards.  

Further detail on the fire standards can be found in the supplemental document "Fire Considerations for Autex Frontier Acoustic Fins".

Install Instructions | Ceiling Fixing Method

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 1 of 29

®

US Patent 10,113,312 | AU Patent 2016250499 | GB Patent 2,545,789 | NZ Patent app 725770 

Instrucciones de instalación de Frontier

Instrucciones de instalación | Estilos de losas

LOSA BEAM 100

SE MUESTRA 1 PAQUETE

LOSA BEAM 250

SE MUESTRA 1 PAQUETE

LOSA TRAPEZOID

SE MUESTRA 1 PAQUETE

LOSA BLADE

SE MUESTRA 1 PAQUETE



 87mm 

 70 mm 

 227mm 

 70 mm 

BEAM 250BEAM 100

 247mm 

 70mm 

BLADE

 137mm 

 200 mm 

TRAPEZOID

NOTES - Raft height is inclusive of the Autex frontier Raft Extrusion
- Refer to page 19 for recommended Raft spacing (X).

Install Instructions | Raft Profiles

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 16 of 29

®

Página 16 de 29Instrucciones de instalación de Frontier Instrucciones de instalación | Sistema internacional | R1-1.2 | Autex Industries Ltd © Febrero de 2021

2. DIRECT FIXED TO RAILS1. DIRECT FIXED TO CEILING 3. SUSPENDED FROM RAILS

SEE PAGE 2 SEE PAGE 3 SEE PAGE 4

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

NOT SUPPLIED
Fasteners (to substrate)

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

ADDITIONAL COMPONENTS REQUIRED
Autex Frontier Cross Rails x2 

Autex W-Clips

NOT SUPPLIED
Fasteners (to substrate)

M6 Threaded Rod
M6 Back Plates to ceiling

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

ADDITIONAL COMPONENTS REQUIRED
Autex Frontier Cross Rails x2

NOT SUPPLIED
Fasteners (to substrate)

THE FIRST CONSIDERATION TO MAKE WHEN SPECIFYING A FRONTIER SYSTEM IS THE INSTALLATION METHOD.  

For suspended installations it is strongly recommended to consult a building engineer for seismic considerations. See Pages 23-29 for suggested details.  
For all installations in sprinklered buildings, consult a fire engineer to ensure the intended position of the Frontier Fins/Rafts meet sprinkler and alarm standards.  

Further detail on the fire standards can be found in the supplemental document "Fire Considerations for Autex Frontier Acoustic Fins".

Install Instructions | Ceiling Fixing Method

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 1 of 29

®

US Patent 10,113,312 | AU Patent 2016250499 | GB Patent 2,545,789 | NZ Patent app 725770 

Instrucciones de instalación de Frontier

Instrucciones de instalación | Perfiles de losas

NOTAS - La altura de la losa incluye el perfil de extrusión de losas Autex Frontier

- Consulte la página 19 para ver las recomendaciones de espaciado de las losas (X).

TRAPEZOIDBLADEBEAM 250BEAM 100

87 mm

227 mm

247 mm

137 mm

70 mm

70 mm



 2400mm 

 1200mm 

 1200mm 

 150mm 

 2400mm 

 1200mm 

 1200mm 

 300mm 

 2400mm 

 1200mm 

 1200mm 

 300mm 

 2400mm 

 1200mm 

 1200mm 

 300mm 

RAFT BEAM 100
1x Pack =2.88m2

RAFT BLADE
1x Pack = 2.88m2

RAFT TRAPEZOID
1x Pack = 2.88m2

RAFT BEAM 250
1x Pack = 2.88m2

Install Instructions | Raft Coverage

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 17 of 29

®

 2400mm 

 1200mm 

 1200mm 

 150mm 

 2400mm 

 1200mm 

 1200mm 

 300mm 

 2400mm 

 1200mm 

 1200mm 

 300mm 

 2400mm 

 1200mm 

 1200mm 

 300mm 

RAFT BEAM 100
1x Pack =2.88m2

RAFT BLADE
1x Pack = 2.88m2

RAFT TRAPEZOID
1x Pack = 2.88m2

RAFT BEAM 250
1x Pack = 2.88m2

Install Instructions | Raft Coverage

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 17 of 29

®

Página 17 de 29Instrucciones de instalación de Frontier Instrucciones de instalación | Sistema internacional | R1-1.2 | Autex Industries Ltd © Febrero de 2021

2. DIRECT FIXED TO RAILS1. DIRECT FIXED TO CEILING 3. SUSPENDED FROM RAILS

SEE PAGE 2 SEE PAGE 3 SEE PAGE 4

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

NOT SUPPLIED
Fasteners (to substrate)

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

ADDITIONAL COMPONENTS REQUIRED
Autex Frontier Cross Rails x2 

Autex W-Clips

NOT SUPPLIED
Fasteners (to substrate)

M6 Threaded Rod
M6 Back Plates to ceiling

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

ADDITIONAL COMPONENTS REQUIRED
Autex Frontier Cross Rails x2

NOT SUPPLIED
Fasteners (to substrate)

THE FIRST CONSIDERATION TO MAKE WHEN SPECIFYING A FRONTIER SYSTEM IS THE INSTALLATION METHOD.  

For suspended installations it is strongly recommended to consult a building engineer for seismic considerations. See Pages 23-29 for suggested details.  
For all installations in sprinklered buildings, consult a fire engineer to ensure the intended position of the Frontier Fins/Rafts meet sprinkler and alarm standards.  

Further detail on the fire standards can be found in the supplemental document "Fire Considerations for Autex Frontier Acoustic Fins".

Install Instructions | Ceiling Fixing Method

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 1 of 29

®

US Patent 10,113,312 | AU Patent 2016250499 | GB Patent 2,545,789 | NZ Patent app 725770 

Instrucciones de instalación de Frontier

Instrucciones de instalación | Cobertura de las losas

LOSA BEAM 100

1 paquete = 2,88 m2

LOSA BLADE

1 paquete = 2,88 m2

LOSA TRAPEZOID

1 paquete = 2,88 m2

LOSA BEAM 250

1 paquete = 2,88 m2

2400 mm

1200 mm

1200 mm

150 mm

2400 mm

1200 mm

1200 mm

300 mm

2400 mm

1200 mm

1200 mm

300 mm

2400 mm

1200 mm

1200 mm

300 mm



 300mm  300mm  300mm  150mm  150mm 

 300mm  300mm  300mm  150mm  150mm 

 300mm  300mm  300mm  150mm  150mm 

 150mm  150mm  150mm  150mm  150mm  150mm  150mm  75mm  75mm 

TRAPEZOID

BLADE

BEAM 250

BEAM 100

Install Instructions | Raft Spacing

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 18 of 29

®

Página 18 de 29Instrucciones de instalación de Frontier Instrucciones de instalación | Sistema internacional | R1-1.2 | Autex Industries Ltd © Febrero de 2021

2. DIRECT FIXED TO RAILS1. DIRECT FIXED TO CEILING 3. SUSPENDED FROM RAILS

SEE PAGE 2 SEE PAGE 3 SEE PAGE 4

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

NOT SUPPLIED
Fasteners (to substrate)

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

ADDITIONAL COMPONENTS REQUIRED
Autex Frontier Cross Rails x2 

Autex W-Clips

NOT SUPPLIED
Fasteners (to substrate)

M6 Threaded Rod
M6 Back Plates to ceiling

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

ADDITIONAL COMPONENTS REQUIRED
Autex Frontier Cross Rails x2

NOT SUPPLIED
Fasteners (to substrate)

THE FIRST CONSIDERATION TO MAKE WHEN SPECIFYING A FRONTIER SYSTEM IS THE INSTALLATION METHOD.  

For suspended installations it is strongly recommended to consult a building engineer for seismic considerations. See Pages 23-29 for suggested details.  
For all installations in sprinklered buildings, consult a fire engineer to ensure the intended position of the Frontier Fins/Rafts meet sprinkler and alarm standards.  

Further detail on the fire standards can be found in the supplemental document "Fire Considerations for Autex Frontier Acoustic Fins".

Install Instructions | Ceiling Fixing Method

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 1 of 29

®

US Patent 10,113,312 | AU Patent 2016250499 | GB Patent 2,545,789 | NZ Patent app 725770 

Instrucciones de instalación de Frontier

Instrucciones de instalación | Espaciado de las losas

TRAPEZOID

BLADE

BEAM 250

BEAM 100

75 mm 75 mm150 mm 150 mm 150 mm 150 mm 150 mm 150 mm 150 mm

150 mm

150 mm

150 mm

150 mm

150 mm

150 mm

300 mm

300 mm

300 mm

300 mm

300 mm

300 mm

300 mm

300 mm

300 mm



BEAM 100 BEAM 250 BLADE TRAPEZOID

Install Instructions | Raft Assembly

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 19 of 29

®

Página 19 de 29Instrucciones de instalación de Frontier Instrucciones de instalación | Sistema internacional | R1-1.2 | Autex Industries Ltd © Febrero de 2021

2. DIRECT FIXED TO RAILS1. DIRECT FIXED TO CEILING 3. SUSPENDED FROM RAILS

SEE PAGE 2 SEE PAGE 3 SEE PAGE 4

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

NOT SUPPLIED
Fasteners (to substrate)

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

ADDITIONAL COMPONENTS REQUIRED
Autex Frontier Cross Rails x2 

Autex W-Clips

NOT SUPPLIED
Fasteners (to substrate)

M6 Threaded Rod
M6 Back Plates to ceiling

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

ADDITIONAL COMPONENTS REQUIRED
Autex Frontier Cross Rails x2

NOT SUPPLIED
Fasteners (to substrate)

THE FIRST CONSIDERATION TO MAKE WHEN SPECIFYING A FRONTIER SYSTEM IS THE INSTALLATION METHOD.  

For suspended installations it is strongly recommended to consult a building engineer for seismic considerations. See Pages 23-29 for suggested details.  
For all installations in sprinklered buildings, consult a fire engineer to ensure the intended position of the Frontier Fins/Rafts meet sprinkler and alarm standards.  

Further detail on the fire standards can be found in the supplemental document "Fire Considerations for Autex Frontier Acoustic Fins".

Install Instructions | Ceiling Fixing Method

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 1 of 29

®

US Patent 10,113,312 | AU Patent 2016250499 | GB Patent 2,545,789 | NZ Patent app 725770 

Instrucciones de instalación de Frontier

Instrucciones de instalación | Montaje de las losas

TRAPEZOIDBLADEBEAM 250BEAM 100



 0.75mm 

RAFHDCC

Heavy duty diecast connector with 4x grub screws 
used to join cross rails and/or suspended rails. 

Both joiners are compatible with all 
extrusion sizes

RAFCCT

Light duty plastic connector used to join 
direct fixed rails. 

NOTE: A gap smaller than 
1 mm will be present between the 

extrusions. 

NOTE: Grub screws to be 
tightened to secure joiner in 

place. 

NOTE: In addition to joiner, screw the end 
caps together to create a cleaner join

Install Instructions | Extrusion Joiner

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 20 of 29

®

 0.75mm 

RAFHDCC

Heavy duty diecast connector with 4x grub screws 
used to join cross rails and/or suspended rails. 

Both joiners are compatible with all 
extrusion sizes

RAFCCT

Light duty plastic connector used to join 
direct fixed rails. 

NOTE: A gap smaller than 
1 mm will be present between the 

extrusions. 

NOTE: Grub screws to be 
tightened to secure joiner in 

place. 

NOTE: In addition to joiner, screw the end 
caps together to create a cleaner join

Install Instructions | Extrusion Joiner

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 20 of 29

®

 0.75mm 

RAFHDCC

Heavy duty diecast connector with 4x grub screws 
used to join cross rails and/or suspended rails. 

Both joiners are compatible with all 
extrusion sizes

RAFCCT

Light duty plastic connector used to join 
direct fixed rails. 

NOTE: A gap smaller than 
1 mm will be present between the 

extrusions. 

NOTE: Grub screws to be 
tightened to secure joiner in 

place. 

NOTE: In addition to joiner, screw the end 
caps together to create a cleaner join

Install Instructions | Extrusion Joiner

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 20 of 29

®

Página 20 de 29Instrucciones de instalación de Frontier Instrucciones de instalación | Sistema internacional | R1-1.2 | Autex Industries Ltd © Febrero de 2021

2. DIRECT FIXED TO RAILS1. DIRECT FIXED TO CEILING 3. SUSPENDED FROM RAILS

SEE PAGE 2 SEE PAGE 3 SEE PAGE 4

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

NOT SUPPLIED
Fasteners (to substrate)

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

ADDITIONAL COMPONENTS REQUIRED
Autex Frontier Cross Rails x2 

Autex W-Clips

NOT SUPPLIED
Fasteners (to substrate)

M6 Threaded Rod
M6 Back Plates to ceiling

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

ADDITIONAL COMPONENTS REQUIRED
Autex Frontier Cross Rails x2

NOT SUPPLIED
Fasteners (to substrate)

THE FIRST CONSIDERATION TO MAKE WHEN SPECIFYING A FRONTIER SYSTEM IS THE INSTALLATION METHOD.  

For suspended installations it is strongly recommended to consult a building engineer for seismic considerations. See Pages 23-29 for suggested details.  
For all installations in sprinklered buildings, consult a fire engineer to ensure the intended position of the Frontier Fins/Rafts meet sprinkler and alarm standards.  

Further detail on the fire standards can be found in the supplemental document "Fire Considerations for Autex Frontier Acoustic Fins".

Install Instructions | Ceiling Fixing Method

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 1 of 29

®

US Patent 10,113,312 | AU Patent 2016250499 | GB Patent 2,545,789 | NZ Patent app 725770 

Instrucciones de instalación de Frontier

Instrucciones de instalación | Pieza de unión de los perfiles de extrusión

Conector de plástico de carga ligera utilizado 

para unir rieles de fijación directa.

RAFCCT
RAFHDCC

NOTA: habrá un hueco inferior  

a 1 mm entre los perfiles 

de extrusión.

NOTA: los tornillos sin cabeza 

deben apretarse para sujetar 

la pieza de unión en su lugar.

NOTA: además de la pieza de unión, 

atornille las dos tapas de los extremos 

para crear una unión más limpia

Ambas piezas de unión son compatibles con 

todos los tamaños de perfiles de extrusión

Conector de aluminio fundido de alta resistencia 

con 4 tornillos sin cabeza utilizado para unir rieles 

transversales o rieles suspendidos.

0,75 mm



RAFTCC
Autex Mounting Clip

RAFCCT
Autex Frontier Channel Connector

RAFWCP
Autex Removable W-Clip

RAFM6GC
24mm Ceiling Grid Connector with 
M6 Thread

RAFM6MP
Magnet Pot with M6 Thread and Cable 
Adaptor

RAFHDCC
Autex Heavy Duty Frontier 
Channel Connector with 
4x M5 Grub Screws

RAH3MBE
3m Steel Cable with 
Ball End

RAHVAS
Autex Adjustable 
Suspension Set 1000 mm 
cable - Channel Connection

RAFNEXRT
Frontier Raft Extrusion

RAFNEX24
Frontier 24mm Extrusion

RAFNEX
Frontier 12mm Extrusion

Install Instructions | Autex Part ID

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 21 of 29

®

RAFTCC
Autex Mounting Clip

RAFCCT
Autex Frontier Channel Connector

RAFWCP
Autex Removable W-Clip

RAFM6GC
24mm Ceiling Grid Connector with 
M6 Thread

RAFM6MP
Magnet Pot with M6 Thread and Cable 
Adaptor

RAFHDCC
Autex Heavy Duty Frontier 
Channel Connector with 
4x M5 Grub Screws

RAH3MBE
3m Steel Cable with 
Ball End

RAHVAS
Autex Adjustable 
Suspension Set 1000 mm 
cable - Channel Connection

RAFNEXRT
Frontier Raft Extrusion

RAFNEX24
Frontier 24mm Extrusion

RAFNEX
Frontier 12mm Extrusion

Install Instructions | Autex Part ID

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 21 of 29

®

RAFTCC
Autex Mounting Clip

RAFCCT
Autex Frontier Channel Connector

RAFWCP
Autex Removable W-Clip

RAFM6GC
24mm Ceiling Grid Connector with 
M6 Thread

RAFM6MP
Magnet Pot with M6 Thread and Cable 
Adaptor

RAFHDCC
Autex Heavy Duty Frontier 
Channel Connector with 
4x M5 Grub Screws

RAH3MBE
3m Steel Cable with 
Ball End

RAHVAS
Autex Adjustable 
Suspension Set 1000 mm 
cable - Channel Connection

RAFNEXRT
Frontier Raft Extrusion

RAFNEX24
Frontier 24mm Extrusion

RAFNEX
Frontier 12mm Extrusion

Install Instructions | Autex Part ID

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 21 of 29

®

Página 21 de 29Instrucciones de instalación de Frontier Instrucciones de instalación | Sistema internacional | R1-1.2 | Autex Industries Ltd © Febrero de 2021

2. DIRECT FIXED TO RAILS1. DIRECT FIXED TO CEILING 3. SUSPENDED FROM RAILS

SEE PAGE 2 SEE PAGE 3 SEE PAGE 4

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

NOT SUPPLIED
Fasteners (to substrate)

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

ADDITIONAL COMPONENTS REQUIRED
Autex Frontier Cross Rails x2 

Autex W-Clips

NOT SUPPLIED
Fasteners (to substrate)

M6 Threaded Rod
M6 Back Plates to ceiling

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

ADDITIONAL COMPONENTS REQUIRED
Autex Frontier Cross Rails x2

NOT SUPPLIED
Fasteners (to substrate)

THE FIRST CONSIDERATION TO MAKE WHEN SPECIFYING A FRONTIER SYSTEM IS THE INSTALLATION METHOD.  

For suspended installations it is strongly recommended to consult a building engineer for seismic considerations. See Pages 23-29 for suggested details.  
For all installations in sprinklered buildings, consult a fire engineer to ensure the intended position of the Frontier Fins/Rafts meet sprinkler and alarm standards.  

Further detail on the fire standards can be found in the supplemental document "Fire Considerations for Autex Frontier Acoustic Fins".

Install Instructions | Ceiling Fixing Method

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 1 of 29

®

US Patent 10,113,312 | AU Patent 2016250499 | GB Patent 2,545,789 | NZ Patent app 725770 

Instrucciones de instalación de Frontier

Instrucciones de instalación | Identificación de las piezas de Autex

RAFNEX

Perfil de extrusión Frontier 

de 12 mm

RAFNEX24

Perfil de extrusión Frontier 

de 24 mm

RAFNEXRT

Perfil de extrusión de losa Frontier

RAFHDCC

Conector de canales de alta 

resistencia de Autex Frontier 

con 4 tornillos sin cabeza M5

RAH3MBE

Cable de acero de 3 m 

con extremo redondeado

RAHVAS

Cable de 1000 mm del conjunto 

de suspensión ajustable de Autex 

- Conexión de canales

RAFTCC

Clip de montaje de Autex

RAFCCT

Conector de canales de Autex Frontier

RAFWCP

Clip en W extraíble de Autex

RAFM6GC

Conector de rejilla de techo de 24 mm 

con rosca M6

RAFM6MP

Pieza magnética con rosca M6 

y adaptador de cable



RONDO 129
28mm Furring Channel

RONDO 308
16mm Furring Channel

RONDO TCR 127
25mm Top Cross Rail

RONDO 119
U Clip

RONDO 2534
Top Cross Rail 
Suspension Clip

RONDO 547
Adjustable Suspension Hanger 
(Concrete)

RONDO 534
Adjustable Suspension Hanger 
(Purlins)

RONDO 247
121 to Concrete

RONDO 274
121 to Timber
/Steel Joist

RONDO 121
5mm Soft Galvanised Suspension 
Rod

NOTE

Rondo components are supplied by a 3rd party 
and may not be available in all territories. 

Other brands may have comparable 
components. Check with your account 
manager. 

RONDO 719
Adjustable 
Suspension Clip

Install Instructions | Rondo Part ID

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 22 of 29

®

RONDO 129
28mm Furring Channel

RONDO 308
16mm Furring Channel

RONDO TCR 127
25mm Top Cross Rail

RONDO 119
U Clip

RONDO 2534
Top Cross Rail 
Suspension Clip

RONDO 547
Adjustable Suspension Hanger 
(Concrete)

RONDO 534
Adjustable Suspension Hanger 
(Purlins)

RONDO 247
121 to Concrete

RONDO 274
121 to Timber
/Steel Joist

RONDO 121
5mm Soft Galvanised Suspension 
Rod

NOTE

Rondo components are supplied by a 3rd party 
and may not be available in all territories. 

Other brands may have comparable 
components. Check with your account 
manager. 

RONDO 719
Adjustable 
Suspension Clip

Install Instructions | Rondo Part ID

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 22 of 29

®

RONDO 129
28mm Furring Channel

RONDO 308
16mm Furring Channel

RONDO TCR 127
25mm Top Cross Rail

RONDO 119
U Clip

RONDO 2534
Top Cross Rail 
Suspension Clip

RONDO 547
Adjustable Suspension Hanger 
(Concrete)

RONDO 534
Adjustable Suspension Hanger 
(Purlins)

RONDO 247
121 to Concrete

RONDO 274
121 to Timber
/Steel Joist

RONDO 121
5mm Soft Galvanised Suspension 
Rod

NOTE

Rondo components are supplied by a 3rd party 
and may not be available in all territories. 

Other brands may have comparable 
components. Check with your account 
manager. 

RONDO 719
Adjustable 
Suspension Clip

Install Instructions | Rondo Part ID

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 22 of 29

®

RONDO 129
28mm Furring Channel

RONDO 308
16mm Furring Channel

RONDO TCR 127
25mm Top Cross Rail

RONDO 119
U Clip

RONDO 2534
Top Cross Rail 
Suspension Clip

RONDO 547
Adjustable Suspension Hanger 
(Concrete)

RONDO 534
Adjustable Suspension Hanger 
(Purlins)

RONDO 247
121 to Concrete

RONDO 274
121 to Timber
/Steel Joist

RONDO 121
5mm Soft Galvanised Suspension 
Rod

NOTE

Rondo components are supplied by a 3rd party 
and may not be available in all territories. 

Other brands may have comparable 
components. Check with your account 
manager. 

RONDO 719
Adjustable 
Suspension Clip

Install Instructions | Rondo Part ID

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 22 of 29

®

Página 22 de 29Instrucciones de instalación de Frontier Instrucciones de instalación | Sistema internacional | R1-1.2 | Autex Industries Ltd © Febrero de 2021

2. DIRECT FIXED TO RAILS1. DIRECT FIXED TO CEILING 3. SUSPENDED FROM RAILS

SEE PAGE 2 SEE PAGE 3 SEE PAGE 4

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

NOT SUPPLIED
Fasteners (to substrate)

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

ADDITIONAL COMPONENTS REQUIRED
Autex Frontier Cross Rails x2 

Autex W-Clips

NOT SUPPLIED
Fasteners (to substrate)

M6 Threaded Rod
M6 Back Plates to ceiling

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

ADDITIONAL COMPONENTS REQUIRED
Autex Frontier Cross Rails x2

NOT SUPPLIED
Fasteners (to substrate)

THE FIRST CONSIDERATION TO MAKE WHEN SPECIFYING A FRONTIER SYSTEM IS THE INSTALLATION METHOD.  

For suspended installations it is strongly recommended to consult a building engineer for seismic considerations. See Pages 23-29 for suggested details.  
For all installations in sprinklered buildings, consult a fire engineer to ensure the intended position of the Frontier Fins/Rafts meet sprinkler and alarm standards.  

Further detail on the fire standards can be found in the supplemental document "Fire Considerations for Autex Frontier Acoustic Fins".

Install Instructions | Ceiling Fixing Method

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 1 of 29

®

US Patent 10,113,312 | AU Patent 2016250499 | GB Patent 2,545,789 | NZ Patent app 725770 

Instrucciones de instalación de Frontier

Instrucciones de instalación | Identificación de las piezas RONDO

RONDO 129

Canal de listón de 28 mm

RONDO 308

Canal de listón de 16 mm

RONDO TCR 127

Riel transversal superior de 25 mm

RONDO 119

Clip en U

RONDO 2534

Clip de suspensión de riel 

transversal superior

RONDO 121

Varilla de suspensión  

de galvanizado suave  

de 5 mm

RONDO 719

Clip de suspensión 

ajustable

RONDO 547

Gancho de suspensión ajustable 

(hormigón)
RONDO 247

121 a hormigón 

RONDO 274

121 a madera/vigueta  

de acero

RONDO 534

Gancho de suspensión ajustable 

(largueros)

NOTA

Los componentes Rondo los suministra un 

tercero y pueden no estar disponibles en todos 

los territorios.

Puede haber otras marcas con componentes 

similares. Consulte con el responsable 

de cuentas.



NOTE: This suspension method is suitable for small 
installations only.  
For larger installations refer to pages 25-29 

RAFWCP
Autex Removable W-Clip

RAHVAS
Autex Adjustable 
Suspension Set - Channel

RAFTCC
Autex Mounting Clip

RAFNEX24
Autex Frontier 24 mm 
Extrusion

SCREW FIXING
Suitable for Substrate (NOT 
SUPPLIED)

RAFNEX
Autex Frontier 12 mm Extrusion + 
Fin
- or -
RAFNEX24
Autex Frontier 
24 mm Extrusion + Fin
- or -
RAFNEXRT
Autex Frontier Raft Extrusion + 
Raft 

Suggested Ceiling Fixing Detail

Substrate Fixing Minimum Embedment

Concrete Hilti-HUS3-HR6 40 mm

Steel Stainless Steel 8G Tek Screw 0.55 mm

Timber Stainless Steel 8G Wood Screw 30 mm

Install Instructions | Cable Suspension to Rail

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 23 of 29

®

NOTE: This suspension method is suitable for small 
installations only.  
For larger installations refer to pages 25-29 

RAFWCP
Autex Removable W-Clip

RAHVAS
Autex Adjustable 
Suspension Set - Channel

RAFTCC
Autex Mounting Clip

RAFNEX24
Autex Frontier 24 mm 
Extrusion

SCREW FIXING
Suitable for Substrate (NOT 
SUPPLIED)

RAFNEX
Autex Frontier 12 mm Extrusion + 
Fin
- or -
RAFNEX24
Autex Frontier 
24 mm Extrusion + Fin
- or -
RAFNEXRT
Autex Frontier Raft Extrusion + 
Raft 

Suggested Ceiling Fixing Detail

Substrate Fixing Minimum Embedment

Concrete Hilti-HUS3-HR6 40 mm

Steel Stainless Steel 8G Tek Screw 0.55 mm

Timber Stainless Steel 8G Wood Screw 30 mm

Install Instructions | Cable Suspension to Rail

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 23 of 29

®

Página 23 de 29Instrucciones de instalación de Frontier Instrucciones de instalación | Sistema internacional | R1-1.2 | Autex Industries Ltd © Febrero de 2021

2. DIRECT FIXED TO RAILS1. DIRECT FIXED TO CEILING 3. SUSPENDED FROM RAILS

SEE PAGE 2 SEE PAGE 3 SEE PAGE 4

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

NOT SUPPLIED
Fasteners (to substrate)

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

ADDITIONAL COMPONENTS REQUIRED
Autex Frontier Cross Rails x2 

Autex W-Clips

NOT SUPPLIED
Fasteners (to substrate)

M6 Threaded Rod
M6 Back Plates to ceiling

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

ADDITIONAL COMPONENTS REQUIRED
Autex Frontier Cross Rails x2

NOT SUPPLIED
Fasteners (to substrate)

THE FIRST CONSIDERATION TO MAKE WHEN SPECIFYING A FRONTIER SYSTEM IS THE INSTALLATION METHOD.  

For suspended installations it is strongly recommended to consult a building engineer for seismic considerations. See Pages 23-29 for suggested details.  
For all installations in sprinklered buildings, consult a fire engineer to ensure the intended position of the Frontier Fins/Rafts meet sprinkler and alarm standards.  

Further detail on the fire standards can be found in the supplemental document "Fire Considerations for Autex Frontier Acoustic Fins".

Install Instructions | Ceiling Fixing Method

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 1 of 29

®

US Patent 10,113,312 | AU Patent 2016250499 | GB Patent 2,545,789 | NZ Patent app 725770 

Instrucciones de instalación de Frontier

Instrucciones de instalación | Suspensión en cable a riel

RAFNEX24

Perfil de extrusión  

Autex Frontier de 24 mm

RAHVAS

Conjunto de suspensión 

ajustable de Autex - Canal

NOTA: este método de suspensión es adecuado para 

pequeñas instalaciones solamente.

Para instalaciones más grandes, consulte las páginas 25-29.

RAFNEX

Perfil de extrusión Autex 

Frontier de 12 mm + aleta

-o - 

RAFNEX24

perfil de extrusión Autex 

Frontier de 24 mm + aleta

-o - 

RAFNEXRT

perfil de extrusión para losas 

Autex Frontier + losa

RAFWCP

Clip en W extraíble de Autex

RAFWCP

Clip en W extraíble de Autex

FIJACIÓN CON TORNILLOS

Adecuados para el sustrato  

(NO SUMINISTRADOS)

Sugerencia para las fijaciones en techos

Sustrato Fijación Incrustación mínima

Hormigón Hilti-HUS3-HR6 40 mm

Acero Tornillo de autoperforación de acero inoxidable 8G 0,55 mm

Madera Tornillo de acero inoxidable 8G para madera 30 mm



NOTE: This suspension method is
suitable for individual fins only.
Requires 1x RAHVAS set per fin.  
For larger installations refer to pages 25-29 

RAHVAS
Autex Adjustable 
Suspension Set - Channel

SCREW FIXING
Suitable for Substrate (NOT 
SUPPLIED)

RAFNEX
Autex Frontier 12 mm Extrusion + 
Fin
- or -
RAFNEX24
Autex Frontier 
24 mm Extrusion + Fin
- or -
RAFNEXRT
Autex Frontier Raft Extrusion + 
Raft 

Suggested Ceiling Fixing Detail

Substrate Fixing Minimum Embedment

Concrete Hilti-HUS3-HR6 40 mm

Steel Stainless Steel 8G Tek Screw 0.55 mm

Timber Stainless Steel 8G Wood Screw 30 mm

Install Instructions | Cable Suspension to Fin/Raft

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 24 of 29

®

NOTE: This suspension method is
suitable for individual fins only.
Requires 1x RAHVAS set per fin.  
For larger installations refer to pages 25-29 

RAHVAS
Autex Adjustable 
Suspension Set - Channel

SCREW FIXING
Suitable for Substrate (NOT 
SUPPLIED)

RAFNEX
Autex Frontier 12 mm Extrusion + 
Fin
- or -
RAFNEX24
Autex Frontier 
24 mm Extrusion + Fin
- or -
RAFNEXRT
Autex Frontier Raft Extrusion + 
Raft 

Suggested Ceiling Fixing Detail

Substrate Fixing Minimum Embedment

Concrete Hilti-HUS3-HR6 40 mm

Steel Stainless Steel 8G Tek Screw 0.55 mm

Timber Stainless Steel 8G Wood Screw 30 mm

Install Instructions | Cable Suspension to Fin/Raft

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 24 of 29

®

Página 24 de 29Instrucciones de instalación de Frontier Instrucciones de instalación | Sistema internacional | R1-1.2 | Autex Industries Ltd © Febrero de 2021

2. DIRECT FIXED TO RAILS1. DIRECT FIXED TO CEILING 3. SUSPENDED FROM RAILS

SEE PAGE 2 SEE PAGE 3 SEE PAGE 4

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

NOT SUPPLIED
Fasteners (to substrate)

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

ADDITIONAL COMPONENTS REQUIRED
Autex Frontier Cross Rails x2 

Autex W-Clips

NOT SUPPLIED
Fasteners (to substrate)

M6 Threaded Rod
M6 Back Plates to ceiling

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

ADDITIONAL COMPONENTS REQUIRED
Autex Frontier Cross Rails x2

NOT SUPPLIED
Fasteners (to substrate)

THE FIRST CONSIDERATION TO MAKE WHEN SPECIFYING A FRONTIER SYSTEM IS THE INSTALLATION METHOD.  

For suspended installations it is strongly recommended to consult a building engineer for seismic considerations. See Pages 23-29 for suggested details.  
For all installations in sprinklered buildings, consult a fire engineer to ensure the intended position of the Frontier Fins/Rafts meet sprinkler and alarm standards.  

Further detail on the fire standards can be found in the supplemental document "Fire Considerations for Autex Frontier Acoustic Fins".

Install Instructions | Ceiling Fixing Method

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 1 of 29

®

US Patent 10,113,312 | AU Patent 2016250499 | GB Patent 2,545,789 | NZ Patent app 725770 

Instrucciones de instalación de Frontier

Instrucciones de instalación | Suspensión en cable a aleta/losa

RAHVAS

Conjunto de suspensión 

ajustable de Autex - Canal

RAFNEX

Perfil de extrusión Autex 

Frontier de 12 mm + aleta

-o - 

RAFNEX24

Autex Frontier perfil de 

extrusión de 24 mm + aleta

-o - 

RAFNEXRT

perfil de extrusión para losas 

Autex Frontier + losa

FIJACIÓN CON TORNILLOS

Adecuados para el sustrato  

(NO SUMINISTRADOS)

NOTA: este método de suspensión es adecuado para aletas 

individuales solamente. 

Necesita 1 conjunto RAHVAS por aleta.

Para instalaciones más grandes, consulte las páginas 25-29.

Sugerencia para las fijaciones en techos

Sustrato Fijación Incrustación mínima

Hormigón Hilti-HUS3-HR6 40 mm

Acero Tornillo de autoperforación de acero inoxidable 8G 0,55 mm

Madera Tornillo de acero inoxidable 8G para madera 30 mm



RAFWCP
Autex Removable W-Clip

M6 THREADED ROD 
(NOT SUPPLIED)

RAFTCC
Autex Mounting Clip

RAFNEX24
Autex Frontier 24 mm 
Extrusion

RAFNEX
Autex Frontier 12 mm Extrusion + 
Fin
- or - 
RAFNEX24
Autex Frontier 
24 mm Extrusion + Fin
- or -
RAFNEXRT
Autex Frontier Raft extrusion + 
Raft 

M6 NYLOC NUT
(NOT SUPPLIED)

M6 NUT
(NOT SUPPLIED)

M6 BACK PLATE
(NOT SUPPLIED) SCREW FIXINGS

Suitable for Substrate (NOT 
SUPPLIED)

SEISMIC CONSIDERATIONS
For certain size installations, transverse and 
longitudal seismic bracing may be required 
(dashed lines). See suggested bracing option on 
page 29.

Suggested Ceiling Fixing Detail

Substrate Fixing Minimum Embedment

Concrete Hilti-HUS3-HR6 40 mm

Steel Stainless Steel 8G Tek Screw 0.55 mm

Timber Stainless Steel 8G Wood Screw 30 mm

Install Instructions | Threaded Rod Suspension

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 25 of 29

®

RAFWCP
Autex Removable W-Clip

M6 THREADED ROD 
(NOT SUPPLIED)

RAFTCC
Autex Mounting Clip

RAFNEX24
Autex Frontier 24 mm 
Extrusion

RAFNEX
Autex Frontier 12 mm Extrusion + 
Fin
- or - 
RAFNEX24
Autex Frontier 
24 mm Extrusion + Fin
- or -
RAFNEXRT
Autex Frontier Raft extrusion + 
Raft 

M6 NYLOC NUT
(NOT SUPPLIED)

M6 NUT
(NOT SUPPLIED)

M6 BACK PLATE
(NOT SUPPLIED) SCREW FIXINGS

Suitable for Substrate (NOT 
SUPPLIED)

SEISMIC CONSIDERATIONS
For certain size installations, transverse and 
longitudal seismic bracing may be required 
(dashed lines). See suggested bracing option on 
page 29.

Suggested Ceiling Fixing Detail

Substrate Fixing Minimum Embedment

Concrete Hilti-HUS3-HR6 40 mm

Steel Stainless Steel 8G Tek Screw 0.55 mm

Timber Stainless Steel 8G Wood Screw 30 mm

Install Instructions | Threaded Rod Suspension

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 25 of 29

®

Página 25 de 29Instrucciones de instalación de Frontier Instrucciones de instalación | Sistema internacional | R1-1.2 | Autex Industries Ltd © Febrero de 2021

2. DIRECT FIXED TO RAILS1. DIRECT FIXED TO CEILING 3. SUSPENDED FROM RAILS

SEE PAGE 2 SEE PAGE 3 SEE PAGE 4

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

NOT SUPPLIED
Fasteners (to substrate)

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

ADDITIONAL COMPONENTS REQUIRED
Autex Frontier Cross Rails x2 

Autex W-Clips

NOT SUPPLIED
Fasteners (to substrate)

M6 Threaded Rod
M6 Back Plates to ceiling

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

ADDITIONAL COMPONENTS REQUIRED
Autex Frontier Cross Rails x2

NOT SUPPLIED
Fasteners (to substrate)

THE FIRST CONSIDERATION TO MAKE WHEN SPECIFYING A FRONTIER SYSTEM IS THE INSTALLATION METHOD.  

For suspended installations it is strongly recommended to consult a building engineer for seismic considerations. See Pages 23-29 for suggested details.  
For all installations in sprinklered buildings, consult a fire engineer to ensure the intended position of the Frontier Fins/Rafts meet sprinkler and alarm standards.  

Further detail on the fire standards can be found in the supplemental document "Fire Considerations for Autex Frontier Acoustic Fins".

Install Instructions | Ceiling Fixing Method

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 1 of 29

®

US Patent 10,113,312 | AU Patent 2016250499 | GB Patent 2,545,789 | NZ Patent app 725770 

Instrucciones de instalación de Frontier

Instrucciones de instalación | Suspensión con varilla roscada

CONSIDERACIONES SÍSMICAS

En las instalaciones de cierto tamaño, pueden 

ser necesarios apoyos sísmicos transversales 

o longitudinales (líneas punteadas). Consulte 

la opción de apoyo sugerida en la página 29.

PLACA DE MONTAJE M6

(NO SUMINISTRADA)

VARILLA ROSCADA M6

(NO SUMINISTRADA)

RAFWCP

Clip en W extraíble de Autex

RAFNEX24

Perfil de extrusión Autex  

Frontier de 24 mm

RAFNEX

Perfil de extrusión Autex 

Frontier de 12 mm + aleta

-o - 

RAFNEX24

Autex Frontier perfil 

de extrusión de 24 mm + aleta

-o - 

RAFNEXRT

perfil de extrusión para losas 

Autex Frontier + losa

FIJACIONES CON TORNILLOS

Adecuados para el sustrato  

(NO SUMINISTRADOS)

 TUERCA M6

(NO SUMINISTRADA)

 TUERCA NYLOC M6

(NO SUMINISTRADA)

RAFTCC 

Clip de montaje de Autex

Sugerencia para las fijaciones en techos

Sustrato Fijación Incrustación mínima

Hormigón Hilti-HUS3-HR6 40 mm

Acero Tornillo de autoperforación de acero inoxidable 8G 0,55 mm

Madera Tornillo de acero inoxidable 8G para madera 30 mm



RAFWCP
Autex Removable 
W-Clip

RAFNEX24
Autex Frontier 24 mm 
Extrusion

RONDO 547
Adjustable Suspension 
Hanger

RAFTCC
Autex Mounting Clip

RONDO 121
5 mm Soft Galvanised 
Suspension Rod

RAFNEX
Autex Frontier 
12 mm Extrusion + Fin
- or - 
RAFNEX24
Autex Frontier 
24 mm Extrusion + Fin
- or - 
RAFNEXRT
Autex Frontier Raft Extrusion + 
Raft 

SEISMIC CONSIDERATIONS
For certain size installations, transverse 
and longitudal seismic bracing may be 
required (dashed lines). See suggested 
bracing option on page 29.

Suggested Ceiling Fixing Detail

Substrate Fixing Minimum Embedment

Concrete Hilti-HUS3-HR6 40 mm

Steel Stainless Steel 8G Tek Screw 0.55 mm

Timber Stainless Steel 8G Wood Screw 30 mm

Install Instructions | Rondo Suspension 1

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 26 of 29

®

RAFWCP
Autex Removable 
W-Clip

RAFNEX24
Autex Frontier 24 mm 
Extrusion

RONDO 547
Adjustable Suspension 
Hanger

RAFTCC
Autex Mounting Clip

RONDO 121
5 mm Soft Galvanised 
Suspension Rod

RAFNEX
Autex Frontier 
12 mm Extrusion + Fin
- or - 
RAFNEX24
Autex Frontier 
24 mm Extrusion + Fin
- or - 
RAFNEXRT
Autex Frontier Raft Extrusion + 
Raft 

SEISMIC CONSIDERATIONS
For certain size installations, transverse 
and longitudal seismic bracing may be 
required (dashed lines). See suggested 
bracing option on page 29.

Suggested Ceiling Fixing Detail

Substrate Fixing Minimum Embedment

Concrete Hilti-HUS3-HR6 40 mm

Steel Stainless Steel 8G Tek Screw 0.55 mm

Timber Stainless Steel 8G Wood Screw 30 mm

Install Instructions | Rondo Suspension 1

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 26 of 29

®

Página 26 de 29Instrucciones de instalación de Frontier Instrucciones de instalación | Sistema internacional | R1-1.2 | Autex Industries Ltd © Febrero de 2021

2. DIRECT FIXED TO RAILS1. DIRECT FIXED TO CEILING 3. SUSPENDED FROM RAILS

SEE PAGE 2 SEE PAGE 3 SEE PAGE 4

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

NOT SUPPLIED
Fasteners (to substrate)

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

ADDITIONAL COMPONENTS REQUIRED
Autex Frontier Cross Rails x2 

Autex W-Clips

NOT SUPPLIED
Fasteners (to substrate)

M6 Threaded Rod
M6 Back Plates to ceiling

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

ADDITIONAL COMPONENTS REQUIRED
Autex Frontier Cross Rails x2

NOT SUPPLIED
Fasteners (to substrate)

THE FIRST CONSIDERATION TO MAKE WHEN SPECIFYING A FRONTIER SYSTEM IS THE INSTALLATION METHOD.  

For suspended installations it is strongly recommended to consult a building engineer for seismic considerations. See Pages 23-29 for suggested details.  
For all installations in sprinklered buildings, consult a fire engineer to ensure the intended position of the Frontier Fins/Rafts meet sprinkler and alarm standards.  

Further detail on the fire standards can be found in the supplemental document "Fire Considerations for Autex Frontier Acoustic Fins".

Install Instructions | Ceiling Fixing Method

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 1 of 29

®

US Patent 10,113,312 | AU Patent 2016250499 | GB Patent 2,545,789 | NZ Patent app 725770 

Instrucciones de instalación de Frontier

Instrucciones de instalación | Suspensión Rondo 1

CONSIDERACIONES SÍSMICAS

En las instalaciones de cierto tamaño, 

pueden ser necesarios apoyos 

sísmicos transversales o longitudinales 

(líneas punteadas). Consulte la opción 

de apoyo sugerida en la página 29.

RAFNEX24

Perfil de extrusión Autex 

Frontier de 24 mm

RONDO 121

Varilla de suspensión 

de galvanizado suave de 5 mm

RONDO 547

Gancho de suspensión ajustable

RAFNEX

Autex Frontier perfil 

de extrusión de 12 mm + aleta

- o - 

RAFNEX24

Autex Frontier perfil 

de extrusión de 24 mm + aleta

- o - 

RAFNEXRT

perfil de extrusión para losas 

Autex Frontier + losa

RAFTCC

Clip de montaje de Autex

RAFWCP

Clip en W extraíble de Autex

Sugerencia para las fijaciones en techos

Sustrato Fijación Incrustación mínima

Hormigón Hilti-HUS3-HR6 40 mm

Acero Tornillo de autoperforación de acero inoxidable 8G 0,55 mm

Madera Tornillo de acero inoxidable 8G para madera 30 mm



RAFWCP
Autex Removable 
W-Clip

RAFNEX24
Autex Frontier 24 mm 
Extrusion

RAFTCC
Autex Mounting Clip

RONDO 121
5 mm Soft Galvanised 
Suspension Rod

RONDO 119
U Clip

M6 X 20 SOCKET HEAD 
CAP SCREW (NOT 
SUPPLIED)

RONDO 2534
Top Cross Rail Suspension 
Clip

RONDO TCR 127
25 mm Top Cross Rail

RAFNEX
Autex Frontier 
12 mm Extrusion + Fin
- or -
RAFNEX24
Autex Frontier 
24 mm Extrusion + Fin
- or - 
RAFNEXRT
Autex Frontier Raft Extrusion + 
Raft 

SEISMIC CONSIDERATIONS
For certain size installations, transverse and 
longitudal seismic bracing may be required (dashed 
lines). See suggested bracing option on page 29.

Suggested Ceiling Fixing Detail

Substrate Fixing Minimum Embedment

Concrete Hilti-HUS3-HR6 40 mm

Steel Stainless Steel 8G Tek Screw 0.55 mm

Timber Stainless Steel 8G Wood Screw 30 mm

Install Instructions | Rondo Suspension 2

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 27 of 29

®

RAFWCP
Autex Removable 
W-Clip

RAFNEX24
Autex Frontier 24 mm 
Extrusion

RAFTCC
Autex Mounting Clip

RONDO 121
5 mm Soft Galvanised 
Suspension Rod

RONDO 119
U Clip

M6 X 20 SOCKET HEAD 
CAP SCREW (NOT 
SUPPLIED)

RONDO 2534
Top Cross Rail Suspension 
Clip

RONDO TCR 127
25 mm Top Cross Rail

RAFNEX
Autex Frontier 
12 mm Extrusion + Fin
- or -
RAFNEX24
Autex Frontier 
24 mm Extrusion + Fin
- or - 
RAFNEXRT
Autex Frontier Raft Extrusion + 
Raft 

SEISMIC CONSIDERATIONS
For certain size installations, transverse and 
longitudal seismic bracing may be required (dashed 
lines). See suggested bracing option on page 29.

Suggested Ceiling Fixing Detail

Substrate Fixing Minimum Embedment

Concrete Hilti-HUS3-HR6 40 mm

Steel Stainless Steel 8G Tek Screw 0.55 mm

Timber Stainless Steel 8G Wood Screw 30 mm

Install Instructions | Rondo Suspension 2

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 27 of 29

®

Página 27 de 29Instrucciones de instalación de Frontier Instrucciones de instalación | Sistema internacional | R1-1.2 | Autex Industries Ltd © Febrero de 2021

2. DIRECT FIXED TO RAILS1. DIRECT FIXED TO CEILING 3. SUSPENDED FROM RAILS

SEE PAGE 2 SEE PAGE 3 SEE PAGE 4

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

NOT SUPPLIED
Fasteners (to substrate)

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

ADDITIONAL COMPONENTS REQUIRED
Autex Frontier Cross Rails x2 

Autex W-Clips

NOT SUPPLIED
Fasteners (to substrate)

M6 Threaded Rod
M6 Back Plates to ceiling

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

ADDITIONAL COMPONENTS REQUIRED
Autex Frontier Cross Rails x2

NOT SUPPLIED
Fasteners (to substrate)

THE FIRST CONSIDERATION TO MAKE WHEN SPECIFYING A FRONTIER SYSTEM IS THE INSTALLATION METHOD.  

For suspended installations it is strongly recommended to consult a building engineer for seismic considerations. See Pages 23-29 for suggested details.  
For all installations in sprinklered buildings, consult a fire engineer to ensure the intended position of the Frontier Fins/Rafts meet sprinkler and alarm standards.  

Further detail on the fire standards can be found in the supplemental document "Fire Considerations for Autex Frontier Acoustic Fins".

Install Instructions | Ceiling Fixing Method

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 1 of 29

®

US Patent 10,113,312 | AU Patent 2016250499 | GB Patent 2,545,789 | NZ Patent app 725770 

Instrucciones de instalación de Frontier

Instrucciones de instalación | Suspensión Rondo 2

CONSIDERACIONES SÍSMICAS

En las instalaciones de cierto tamaño, pueden 

ser necesarios apoyos sísmicos transversales 

o longitudinales (líneas punteadas). Consulte 

la opción de apoyo sugerida en la página 29.

RAFNEX24

Perfil de Autex Frontier 

de 24 mm

RAFWCP

Clip en W extraíble  

de Autex

RONDO 121

Varilla de suspensión de 

galvanizado suave de 5 mm

RONDO TCR 127

Riel transversal superior 

de 25 mm

RAFNEX

Autex Frontier perfil de 

extrusión de 12 mm + aleta

- o - 

RAFNEX24

Autex Frontier perfil de 

extrusión de 24 mm + aleta

- o - 

RAFNEXRT

perfil de extrusión para losas 

Autex Frontier + losa

20 TORNILLOS DE CABEZA 

TIPO ALLEN M6  

(NO SUMINISTRADOS)

RAFTCC

Clip de montaje de Autex

RONDO 119

Clip en U

RONDO 2534

Clip de suspensión de riel 

transversal superior

Sugerencia para las fijaciones en techos

Sustrato Fijación Incrustación mínima

Hormigón Hilti-HUS3-HR6 40 mm

Acero Tornillo de autoperforación de acero inoxidable 8G 0,55 mm

Madera Tornillo de acero inoxidable 8G para madera 30 mm



RAFWCP
Autex Removable W-Clip

RAFNEX24
Autex Frontier 24 mm 
Extrusion

RAFTCC
Autex Mounting Clip

RONDO 121
5 mm Soft Galvanised 
Suspension Rod 

RONDO 547
Adjustable Suspension 
Hanger

M6 X 20 SOCKET HEAD CAP 
SCREW 
(NOT SUPPLIED)

RAFNEX
Autex Frontier 12 mm Extrusion + 
Fin
- or - 
RAFNEX24
Autex Frontier 
24 mm Extrusion + Fin
- or -
RAFNEXRT
Autex Frontier Raft extrusion + 
Raft 

M6 NYLOCK NUT (NOT 
SUPPLIED)

SEISMIC CONSIDERATIONS
For certain size installations, transverse and longitudal 
seismic bracing may be required (dashed lines). See 
suggested bracing option on page 29.

Suggested Ceiling Fixing Detail

Substrate Fixing Minimum Embedment

Concrete Hilti-HUS3-HR6 40 mm

Steel Stainless Steel 8G Tek Screw 0.55 mm

Timber Stainless Steel 8G Wood Screw 30 mm

Install Instructions | Rondo Suspension 3

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 28 of 29

®

RAFWCP
Autex Removable W-Clip

RAFNEX24
Autex Frontier 24 mm 
Extrusion

RAFTCC
Autex Mounting Clip

RONDO 121
5 mm Soft Galvanised 
Suspension Rod 

RONDO 547
Adjustable Suspension 
Hanger

M6 X 20 SOCKET HEAD CAP 
SCREW 
(NOT SUPPLIED)

RAFNEX
Autex Frontier 12 mm Extrusion + 
Fin
- or - 
RAFNEX24
Autex Frontier 
24 mm Extrusion + Fin
- or -
RAFNEXRT
Autex Frontier Raft extrusion + 
Raft 

M6 NYLOCK NUT (NOT 
SUPPLIED)

SEISMIC CONSIDERATIONS
For certain size installations, transverse and longitudal 
seismic bracing may be required (dashed lines). See 
suggested bracing option on page 29.

Suggested Ceiling Fixing Detail

Substrate Fixing Minimum Embedment

Concrete Hilti-HUS3-HR6 40 mm

Steel Stainless Steel 8G Tek Screw 0.55 mm

Timber Stainless Steel 8G Wood Screw 30 mm

Install Instructions | Rondo Suspension 3

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 28 of 29

®

Página 28 de 29Instrucciones de instalación de Frontier Instrucciones de instalación | Sistema internacional | R1-1.2 | Autex Industries Ltd © Febrero de 2021

2. DIRECT FIXED TO RAILS1. DIRECT FIXED TO CEILING 3. SUSPENDED FROM RAILS

SEE PAGE 2 SEE PAGE 3 SEE PAGE 4

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

NOT SUPPLIED
Fasteners (to substrate)

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

ADDITIONAL COMPONENTS REQUIRED
Autex Frontier Cross Rails x2 

Autex W-Clips

NOT SUPPLIED
Fasteners (to substrate)

M6 Threaded Rod
M6 Back Plates to ceiling

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

ADDITIONAL COMPONENTS REQUIRED
Autex Frontier Cross Rails x2

NOT SUPPLIED
Fasteners (to substrate)

THE FIRST CONSIDERATION TO MAKE WHEN SPECIFYING A FRONTIER SYSTEM IS THE INSTALLATION METHOD.  

For suspended installations it is strongly recommended to consult a building engineer for seismic considerations. See Pages 23-29 for suggested details.  
For all installations in sprinklered buildings, consult a fire engineer to ensure the intended position of the Frontier Fins/Rafts meet sprinkler and alarm standards.  

Further detail on the fire standards can be found in the supplemental document "Fire Considerations for Autex Frontier Acoustic Fins".

Install Instructions | Ceiling Fixing Method

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 1 of 29

®

US Patent 10,113,312 | AU Patent 2016250499 | GB Patent 2,545,789 | NZ Patent app 725770 

Instrucciones de instalación de Frontier

Instrucciones de instalación | Suspensión Rondo 3

CONSIDERACIONES SÍSMICAS

En las instalaciones de cierto tamaño, pueden 

ser necesarios apoyos sísmicos transversales 

o longitudinales (líneas punteadas). Consulte 

la opción de apoyo sugerida en la página 29.

RAFNEX24

Perfil de extrusión Autex 

Frontier de 24 mm

RAFWCP

Clip en W extraíble de Autex

TUERCA NYLOC M6  

(NO SUMINISTRADA)

RAFNEX

Perfil de extrusión Autex 

Frontier de 12 mm + aleta

- o - 

RAFNEX24

Autex Frontier perfil de 

extrusión de 24 mm + aleta

- o - 

RAFNEXRT

perfil de extrusión para losas 

Autex Frontier + losa

RAFTCC

Clip de montaje de Autex

20 TORNILLOS DE CABEZA 

TIPO ALLEN M6

(NO SUMINISTRADOS)

RONDO 547

Gancho de suspensión ajustable

RONDO 121

Varilla de suspensión de 

galvanizado suave de 5 mm

Sugerencia para las fijaciones en techos

Sustrato Fijación Incrustación mínima

Hormigón Hilti-HUS3-HR6 40 mm

Acero Tornillo de autoperforación de acero inoxidable 8G 0,55 mm

Madera Tornillo de acero inoxidable 8G para madera 30 mm



 45deg 

 1200mm 

 2400mm  1200.0mm 

If creating larger grids use 
RAFHDCC/RAFCCT to join 

rails/cross rails

RAFWCP
Autex Removable W-Clip

RAFNEX24 (used as crossrail)
Autex Frontier 24 mm Extrusion

RAFTCC
Autex Mounting Clip

RAFNEX
Autex Frontier 12 mm Extrusion
- or -
RAFNEX24
Autex Frontier 24 mm Extrusion
- or -
RAFNEXRT
Autex Frontier Raft Extrusion

Additional Autex W Clips act as 
interface between bracing and channel 

or
RAFHDCC

RAFCCT

RAFHDCC

Install Instructions | Seismic Detail

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 29 of 29

®

 45deg 

 1200mm 

 2400mm  1200.0mm 

If creating larger grids use 
RAFHDCC/RAFCCT to join 

rails/cross rails

RAFWCP
Autex Removable W-Clip

RAFNEX24 (used as crossrail)
Autex Frontier 24 mm Extrusion

RAFTCC
Autex Mounting Clip

RAFNEX
Autex Frontier 12 mm Extrusion
- or -
RAFNEX24
Autex Frontier 24 mm Extrusion
- or -
RAFNEXRT
Autex Frontier Raft Extrusion

Additional Autex W Clips act as 
interface between bracing and channel 

or
RAFHDCC

RAFCCT

RAFHDCC

Install Instructions | Seismic Detail

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 29 of 29

®

Página 29 de 29Instrucciones de instalación de Frontier Instrucciones de instalación | Sistema internacional | R1-1.2 | Autex Industries Ltd © Febrero de 2021

2. DIRECT FIXED TO RAILS1. DIRECT FIXED TO CEILING 3. SUSPENDED FROM RAILS

SEE PAGE 2 SEE PAGE 3 SEE PAGE 4

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

NOT SUPPLIED
Fasteners (to substrate)

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

ADDITIONAL COMPONENTS REQUIRED
Autex Frontier Cross Rails x2 

Autex W-Clips

NOT SUPPLIED
Fasteners (to substrate)

M6 Threaded Rod
M6 Back Plates to ceiling

PACK INCLUDES
Autex Mounting Clips

Autex Frontier Extrusions
Autex Frontier Fins/Rafts

ADDITIONAL COMPONENTS REQUIRED
Autex Frontier Cross Rails x2

NOT SUPPLIED
Fasteners (to substrate)

THE FIRST CONSIDERATION TO MAKE WHEN SPECIFYING A FRONTIER SYSTEM IS THE INSTALLATION METHOD.  

For suspended installations it is strongly recommended to consult a building engineer for seismic considerations. See Pages 23-29 for suggested details.  
For all installations in sprinklered buildings, consult a fire engineer to ensure the intended position of the Frontier Fins/Rafts meet sprinkler and alarm standards.  

Further detail on the fire standards can be found in the supplemental document "Fire Considerations for Autex Frontier Acoustic Fins".

Install Instructions | Ceiling Fixing Method

Frontier Installation Instructions Install Instructions | Metric |  R1-1.2 | Autex Industries Ltd © February 2021 

Frontier Installation Instructions

TM

Page 1 of 29

®

US Patent 10,113,312 | AU Patent 2016250499 | GB Patent 2,545,789 | NZ Patent app 725770 

Instrucciones de instalación de Frontier

Instrucciones de instalación | Datos sísmicos

RAFHDCC

ALALALARAFCCT

RAFHDCC

o

RAFWCP

Clip en W extraíble de Autex

RAFNEX24 (utilizado como riel 

transversal) Perfil de extrusión 

Autex Frontier de 24 mm

RAFTCC

Clip de montaje de Autex

RAFNEX

Perfil de extrusión Autex Frontier de 12 mm

- o - 

RAFNEX24

perfil de extrusión Autex Frontier de 24 mm

- o - 

RAFNEXRT

perfil de extrusión para losas Autex Frontier

Si va a crear rejillas más 

grandes, use RAFHDCC/

RAFCCT para unir los rieles/

rieles transversales

Los clips en W de Autex adicionales actúan 

como interfaz entre el apoyo y el canal

45 grados

1200 mm

1200.0 mm 2400 mm




